
 Problem of the Week #7 
 What’s the Score? 

 Costa Rica and Germany played one another in the World Cup in Qatar (on Dec 1st). 
 At half time, at least 1 goal had been scored. And Germany was winning. 

 At the end, the score was: 
 Germany: 4 

 Costa Rica:  2 

 What are  all  the possible half time scores 
 that meet these conditions? 

 EXTRA: What country do you think will win the World Cup?  ____________________ 

 Show your thinking using pictures, numbers or symbols. 

 Name:___________________________________________Class:__________ 
 First and last name, please  Due: 12/22/22 (Thursday) 


